
ÌŠžłş²=šÝˇ½½ğý˙½ğÞ=
šð½Ć×ğ³ž²
ÒšÝ˝Šˇ=N=ˇ×ş=N

flÞ½Ððˇ½ˇ³½¸³½š=
½−Þ=¾ğ½−ˇłğłşK

kçíÉW=„˙Þ=½−=šÝ˙½½ğýˇ=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=
šð½¼×ğý˚Þž=³šÝ˝Šˇ=ýÐˇ²=š¹łˇ³˝ˇ²=
šð½Ć×ğ³ž²=ý˝ˇ²=şĞž²I=ˇÞ½Ððˇ½ˇ³½¸³½š=½žÞ=
ðˇ³˚½ˇ=½şÞš¹=×¹ÐÞ=ˇÞ½Ððˇ½ˇ³½¸³š½š=½ž=
ý−Þ˙Šˇ=½¸þž²K

flÞ½Ððˇ½ˇ³½¸³
½š=½žÞ=

ý−Þ˙Šˇ=
½¸þž²K

flÞ½Ð³½−Ð₣¸³½š=½žÞ=−ý˙Šˇ=½ğÞ=š×ˇÞˇÝˇýŁˇÞşýšÞğÞ=šÝˇ½½ğý˙½ğÞ=ýÐˇ²=š¹łˇ³˝ˇ²=šð½Ć×ğ³ž²=ýš=½ˇ=³žý˙ŠÐˇ=³š=
ý˝ˇ=ˇ×ş=½Ð²=ð˙¦š½š²=ł¹ˇýý˚²K=Â=ł¹ˇýý¸=×−¼=šý¾ˇÞ˝ŽšÐ=×š¹Ð³³ş½š¹ž=−ý−Ðş½ž½ˇ=ýš=½−=šÝ˙½½ğýˇ=³½žÞ=š¹łˇ³˝ˇ=
šð½Ć×ğ³ž²=¼×−ŠšÐðÞĆšÐ=×−Ð−=³¼łðšð¹Ðý˚Þ−=ý˚¹−²=½ž²=³¼³ðš¼¸²=×¹−ðˇÝš˝=½ž=Š¼³ÝšÐ½−¼¹ł˝ˇ

·Ðˇ=×ˇ¹˙ŠšÐłýˇI=ž=ˇ×ş³½ˇ³ž=ýš½ˇþĆ=ˇ¼½ćÞ=
½ğÞ=ŠĆ−=³žýˇŠÐćÞ=ˇÞ½Ð×¹−³ğ×šĆšÐ=½−=
š×ˇÞˇÝˇýŁˇÞşýšÞ−=šÝ˙½½ğýˇ=×−¼=
×ˇ¹−¼³Ð˙Žš½ˇÐ=ð˙¦š=PQIS=₣ÐÝK=ENIQ=˝ÞKFI=×−¼=
³žýˇ˝ÞšÐ=ş½Ð=ž=ý−Þ˙Šˇ=¾ğ½−ˇłğł−Ć=₣¹šÐ˙Žš½ˇÐ=
šÞŠš₣−ý˚Þğ²=Þˇ=ˇÞ½Ððˇ½ˇ³½ˇ¦š˝K

VR=ãã
EPITQ=áåKF

flÞ½Ððˇ½ˇ³½¸³
½š=½ž=ý−Þ˙Šˇ=
šý¾˙ÞÐ³ž²K

QPIV=ãã
ENIT=áåKF

RR=ãã
EOIO=áåKF

flÞ½Ððˇ½ˇ³½¸³½š=
½žÞ=

ý−Þ˙Šˇ=½¸þž²K

PQIS=ãã
ENIQ=áåKF

flÞ½Ððˇ½ˇ³½¸³½š=
½−Þ ¾ğ½−ˇłğłş

94,2 mm
(3,71 in.)

PTIT=ãã
ENIR=áåKF

TUIR=ãã
EPIN=áåKF

flÞ½Ððˇ½ˇ³½¸³½š=
½−=ðÐ½=ý−Þ˙Šˇ²=

šÐðşÞğÞK

flÞ½Ððˇ½ˇ³½¸³½š=
½−=ðÐ½=ý−Þ˙Šˇ²=

šÐðşÞğÞK


